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Bitcoin: A Peer-to-Peer Electronic Cash System
Satoshi Nakamoto
satoshin@gmx.com
www.bitcoin.org
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#include <math.h>

double AttackerSuccessProbability(double g, int z)
{
double p = 1.0 - g7
double lambda =z * (q / p);
double sum = 1.0;
int i, k;
for (k = 0; k <= z; k++)
{
double poisson = exp(-lambda);
for (1 = 1; 1 <= k; i++)
poisson *= lambda / i;
sum -= poisson * (1 - powl(g / p, 2 - k)):
t

return sum;



g=0.1

z=0 P=1.0000000
z=1 P=0.2045873
z=2 P=0.0509779
z=3 P=0.0131722
z=4 P=0.0034552
z=5 P=0.0009137
z=6 P=0.0002428
z=" P=0.0000647
z=8 P=0.0000173
z=9 P=0.0000046
z=10 P=0.0000012
g=0.3

z=0 P=1.0000000
z=5 P=0.1773523
z=10 P=0.0416605
z=15 P=0.0101008
z=20 P=0.0024804
z=25 P=0.0006132
z=30 P=0.0001522
z=35 P=0.0000379
z=40 P=0.0000095
z=45 P=0.0000024
z=50 P=0.0000006
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P < 0.001
g=0.10 z=5
g=0.15 z=8
g=0.20 z=11
g=0.25 z=15
g=0.30 z=24
g=0.35 z=41
g=0.40 z=89
g=0.45 z=340
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